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The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of -
the Question-booklet at the places provided for the purpose and nowhere else, otherwse
ihe candidate will be disqualified in the Zntrance Test.
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Do not write your Roll No. OR Name inside the Question-booklet.
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There shall be no erast ng or overwriting in the answers given on the Answer Sheet,
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SCHOOL ENTRANCE TEST, 2017

- CLASS : X1
hell : XI |
ARTS & COMMERCE
Hl Tg diery
Time : Two Hours |} [ Maximum Marks : 100
&9 : & qu2] [ goite : 100

IMPORTANT

Read carefully the I'In.strucﬂm Jor Answering’' given on the [
Answer Sheet and answer the questions as directed : fl

| ST ov Re 7@ ‘Gue offka @t @ R omRer emy @

1. In 1784 William Jones founded 'Asiatic Society' in ;
(1) Bombay (2) Madras

(3) Allahabad . (4) Calcutta

1734%9%%%%'@1?@%@8@’3%%@@;
o 7

(1) &= (2) ==
(3) FSEEE (4) BT
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2. Who among the following was not mu-::iératu e

(1] Firoz Shah Mehta (2) S. N. Banerjee

(3] Bal Gangadhar Tilak , ' (4) Gopal Krishna Gokhale
3 | i ARl T8 em ?

(1) it ste Bear (2) wHo tHo TS

(3) e T fEEs (4) e T e

3. Who was the founder of 'Young Italy’ ?
(1) Mussolini (2) Bismarck
(3) Mazzini - {4) Hatler

‘I gEEr F Al B= o ?

(1) e (2) farwres
(3) Afee (4) fezo

4. From which country renaissance started ?
(1) Portugal (2) England
(3] France (4) Italy
W%Twﬁmﬁ’ﬂﬁgaﬂ?

(1) qee (2) Fwivg

(4)
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5. Champaran Satyagraha was mainly associated with :
(1) Tea (2) Indigo
(3) Cotton | (4) Wheat
TR HEE JEaa: wahad o
(1} == & (2) Hie &
(3) @ “4) W E
6. Who laid foundation 'Young Bengal' in India ?
{1) Raja Ram Mohan Roy
(2} Swami Vivekananda
(3) Ramakrishna Paramhansa
(4} Henry Vivian Derozio
T WM h T WK F e &y ?
(1) T ¥ Aew o=
(2) @it REsr=
(3) EEST TN
(4) 20 R 3R

7. When did the first cotton mill come up in India ?

(1) 1853 (2) 1854
(3) 1855 - (4) 1856
W H guW g DR %9 g ga ?
(1) 1853 (2) 1854
@) 1856 “4) 1856

L34 PTO



SET/17/20/XI{A)/[3)
B. Name the place where the resolution for complete independence
was declared :
(1} Calcutta (2) Bombay
(3) Madras (4) Lahore

S T F AT g STEF IOl dade @0 HRdE Uik g

{1] HaTil (2) a5
) (4) R

9. Which pair is not correctly matched ?
(1} Kalhana - Rajatarangini
(2) Jayadeva - Gitagovinda
(3) Chandbardai - Prithviraj Raso
4] Kalidas - Kathasaritsagara
Ferefartiaer & sr@r ofer @&t 98 2 7
(1) weeur - TrefEel
(2) wdF - e
(3) aadEE - YEeT
(4) =IfeTErd - HHTERIF

10. Who created the very first image of 'Bharata Mata' to spread

nationalism ?

(1) Jawahar Lal Nehru
(2) Rabindra nath Tagore
(3) Mahatma Gandhi

(4) Bankim Chandra Chattopadhyay
(6)



11.

12.

SET/17/20/XI(A)/(3)

AR & JHIRT He 8 IRa A@@r & 8fa 4 ddugm fean
ER1E 1

(1) “TEeY A A5s

(2) = A FWw

(3) Hewm AT

(4) €REm Tv= FETEr

Who is the author of the book '‘Gulamgiri' ?
(1} Jyotirao Phule

[2) B. R. Ambedkar

(3} Ishwarchandra Vidyasagar

(4) Periyar

AR A v & 7

(1) =R o

(2) Hlo Ao rFegmy

(3) Z=avE= TEamErTT

(4] =
In which year kheda Satyagraha took place ?
(1) 1914 2) 1915
(3) 1917 " (4} 1921
a1 e ey av § gar ?
(1) 1914 (2) 1915
3y 1917 ) 1021

‘ A7)

P.T.0.
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13. In which year khilafat committee formed in Bombay ?

(1) February, 1919 (2) March, 1919
(3). April, 1919 (4) May, 1919
gf o Rgempa Afffd @0 wed %= foee = 7
(1] ®Had, 1919 (2) AT, 1919
(3) adier, 1919 @) =, 1919
14. Kanishka established his capital at- ;
(1) Magadha (2] Purushapura
(3} Karnal (4) Ajmer
G A ol T e R o 7
() =14 | (2) 9%E3%
{3) AN (4) AT
15. When did Germany withdraw herself from the 'League of Nations' ?
(1) 1933 (2) 1934
(3) 1936 | | (4) 1939
st 3 ha USEE W ot W i
(1) 1933 (2) 1934

3) 1936 (4) 1939

(8)



16.

17.

18,

SET/17/20/XI{A}/{3)

On which river Indo-Pak Bagalihar in located ?
(1) Chenab | (2) Jhelam
{3) Ganga ' (4) Sutlyj

ATH-O7F TR URAET g At qr Reg 2 7

(1) I (2) w=H

(3) g (4) aag=

Which of the following river has the largest water area ?
(1) Mahanadi (2) Narmada

(3) Krishna (4) Godavari

W= q # e FE @ ST wevr & weiiies 8 ¢

(1) #ErEr (2 T

(3) F=m | (4) TRTE
Project tiger was launched in : | |
(1) 1973 | (2) 1974
(3} 1975 | (4) 1976
T oA F W # T 7

(1) 1973 | L1974
(3) 1975 @) 195

(9)
PT 0.
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19. Which type of soil is useful for cotton production ?
(1) Alluvial soil {2] Red seil
(3) Black soil (4} Laterite soil

FUH T F T wH He-A gH IR B 2 7

(1) S=ig gar (2} & HE
(3) el yar (4) FELET TII

20. Which state has the largest area under permanent forest ?
(1) Punjab | (2} Haryana
(3) Uttar Pradesh [4) Madhya Pradesh
fore < @1 Tl g9 A walieE ¥ 7
(1) H-i (2) efEmm
(3) IET 929 (4) TEE HEST

21. 'Sericulture' is associated with :
(1) Dairy (2] Flower
(3) Fishery (4) Silk production
e Prad wled & 7

2) B B

(4) 9 IR

(1) g IR

(10)



22,

23.

24.

25,

SET/17/20/X1{A)/(3)

Which state is the largest producer of rubber in India ?

(1) Uttar Pradesh (2) Karnataka
(3) Kerala (4) Tamil Nadu
A ¥ xS F ol wew B |
(1) SO waw (2) AT

(3) B (4) afTg
Tungabhadra is a tributary of ................. river,
(1) Krishna (2) Kaveri

(3) Godavari (4) Narmada
TR ... H TAErEFE w& B

(1) 1 (2) wrEd

(3) TETEd (4) e
Which one is the shortest day in southern Hemisphere ?
(1) 22, December - (2} 21, March
(3) 23, Septamber (4) 21, June
=l dems § wed der R P & 7

(1) 22, REEy (2) 21, ==
3) 23, M=t (4 21, 94
Ozone is found in ............... ;

(1) Tr-::pnsphere. (2) Suatespherc
(3) Exosphere (4) Tropopause
(1) esros (2) FWETHOsw
(3) wfervew (4) &% ey

(11) PTO
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26. 'MAHAWAT' is associated with ................... :

(1) Retreating Monsoon (2) South-West Monsoon
(3) Summer Season "~ (4) Western Disturbance
MeEd ... T T 8 |
(1} Faffa g (2) sfEoTafyEh AT
(3) sy =g (4) of¥=i Rt
27. Choose the non-ferrous mineral :
(1) Bauxite (2) Manganese
(3] Chromite (4} Iron ore
sITe @b g ¢
(1) dfegEe (2) Hie
(3) A (4) e oraEE
28. By how much is the time of Varanasi ahead of IST ?
(1) 2 min. 3 sec. | (2) 5 'min. |
(3) 1 min, {4) 3 min. 3 sec.
aRroTt 1 I Sy wEE g 8 e e g 7
(1) 2 f=e 3 ¥ 2) 5 e
(3) 1 fa=e (4) 3 fase 3 |Fvs
29. The western coastal strip south of Goa is referred to as :
(1) Coromandal (2) Kannad
(3] Konkan (4) Northern Circar
ey % afer # feue qf¥Ed qET T . FEART B
(1) FOHT=A (2) HS
(3) e : (@) STl EEEER

(12)



30.

31.

SET/17/20/XI(A)/{(3)

(Giandhi Sagar dam is constructed on :

(1) Mahanadi (2} Chambal river
(3) Tapti river . (4} Sutiyj river
A WA Y w fAfife 21

(1) #E=E (2) == A4

(3) arsit 7= . (4) wage S&l

'Panchasheel’ agreement signed in 1954 was between ..............
B secienis

(1) India & Pakistan (2) India & China

(3) India & Nepal (4] India & Bangladesh
e &1 uslt @ I g \fe 1954 § wwae g ?

(1) «a AR wifes | (2) wra SR G

(3} wea AT AgE 4) ¥R WX FvERw

Who was the Chairman of Objective Resolution Committee of
Indian Constituent Assembly ?

(1) Mahatma Gandhi (2) Sardar Patel

(3) Pt. Jawahar Lal Nehru (4) Dr. Rajendra Prasad
G WA g9 # SEiFw affa & oy @ 9 ?
(1) = e | (2) @R v

(3) Yo SETEY W AT (4) Slo TS goE

‘Muktivahini' fought for the freedom of ..............
(1) Tibet (2) Jammu & Kashmir
(3) East Pakistan/Bangladesh (4) West Pakistan/Pakistan

(13} P.T.0
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gfeeenfe=” @91 8 %l Waadr & e TS W |

(1) feemrer (2) g el @eER

(3) wt arEEaE AR (4) ufgendy wifeR=  qifaET
34. Borlong Award is associated with :

(1} Agriculture (2) Religion

(3) Industry (4] None of these

LA ITRR T B

(1) T 4 (2) & H

(3] s=m § (4) g4 & g 7
35. Under which article of Indian constitution 'Right to Equality is

explained ?

(1} Article 14 - 18 (2) Article 23 - 24

(3) Article 19 - 22 (4) Article 32

wieehig d@fas # frg o=t § cgwer & sty aftlg 2 7

(1) 21g=8d 14 - 18 (2] #j=Be 23-24
(3) AT 19 - 22 (4} oTIRE 32
36. Who chairs the joint session of Lok Sabha & Rajya Sabha ?
(1) Prime Minister (2) President
(3) Lok Sabha Speaker (4} Home Minister

ﬁmﬂmn’ﬁﬂww%ﬁgﬁﬁmﬁﬁwaﬁmwﬁam%?

(1) serEs (2) WA
(3)  eTrERaT T (4) e

- (14)



37.

39.

40.

SET/17/20/XI(A)/{3)

Who among the following was not associated with Non-Alignment
Movement (NAM) ?

(1} Tito (2) Nasir (3) Nehru (4) Stalin
Prer & @ 9 Rl ondiew & awfud 7@ o1 7

(1) &= (2) R (3} AAz& (4) w=ifer
National consumer Day is celebrated on .............. .

(1] 24th December , (2] 25th December

{3) 26th December (4) 27th December

g ITHERT REH Y T S B )

(1) 24 RE=R (2) 25 Ry

(3) 26 fRwm=y (4) 27 Rpay

How m.lzn ny members are nominated by the president for the Rajya
Sabha ? o

{1 10 (2) 11 (3) 12 (4) 15

TS A B T e gaedt # g s ¥ 2

(1) 10 (Z2) 11 (3 12 (4 15

‘Right to Life’ is recognized under which article of Indian
Constitution ?

(1) Article 17 (2) Article 18
(3) Article 19 (4) Afticle 21
Wﬂ?ﬁﬂ‘ﬂﬁ‘ﬂﬁ%ﬁﬂ_a&%ﬁ:ﬁ ‘\?ﬂaﬁaﬁﬁﬂﬂaﬁﬁw’qﬁaﬁﬁ
7 L
(1) BT 17 F (2) gy 18
(3) erg=s 19 _ (4) oTg=ET 21

(15)

5 o
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41.

42,

A4,

45.

Which of the {ollowing countries has highest rank in the Human
Development Index ?

(1) SriLanka (2) Bangladesh (3) Pakistan (4] India
WAE ThE Feepiq 7 2@ § BE-G 39 AR 7
(1) sfemr (@) aERE (@) wREEN (@) s

National Rural Employment Guarantee Scheme (NREGA} was
launched in the year ;

(1} 2004 (2) 2005 (3] 2006 (4) 2007
vt wfior A goe A (F) [y ad aree gg 7
(1) 2004 (2) 2005 (3) 2006 (4) 2007

Who is the author of the book 'Jungle Book' ?

(I} Jane Austen {2} Miiton

(3) George Eliot (4} Rudyard Kipling
T g% fepaet TEem B 7

(1] A affeen 2) free=

(3) T Fiae (4) TeErd Beuferr

In Indian Constitution, the concurrent list has ........... subjects.
(1) 45 (2) 46 (3) 47 4] 48
wredi diaue & aEad g= Hq Yy 2

(1) 45 (2] 46 (3} 47 (4} 48
There is no official religion for ............os .

(1} India (2} Pakistan (3) Srilanka (4) Nepal

- EAES TRt g qE B

(1) R 2) @fg@m (@) fWH @ Fuw

(16)



47.

#Ei

49,

50.

SET/17/20/XI{A)/(3)

How many language are recognized in the VIII™* schedule of Indian
constitution ?

(1) 22 {2) 23 (3) 24 (4) 25

Al e A osmedt eyt ¥ Pt Wl @) AmeEr s
[ S '

(1) 22 (2} 23 (3) 24 4) 25

Which of the following is not essential element of state ?

- (1) Land (2) Democracy (3) Population (4) Sovereignty
Pt & i oy S T e R
(L) «fx (2) e (3) =EEem (4) Hyygar
Which of the following countries has one party system ?
(1) USA, (2) England (3] France (4) China
M= d | T w1 H owaelig ayeeer B 7
1) saR@Er  (2) @dve B w8 (4 9

Which of the following is not a Constitutional body 2

(1] Election commission (2) Planning commission
{3) National Advisory council  (4) Interstate council
i § A A R g d ?

(1) gTa smam (2) T ST

(3) U TEmeHN ufivg (4} SR ey

Which of these countries ig not a permanent member of security
council ?

(1) Russia (2] China (3) France @) Germ any
T R BT I G Mg w1 el gow 7§ o

(1) = (2) = ® W ey g

(17) .
P.To



SET/17/20/XI{A)/{3)

51.

52.

53.

Who is called as the ‘Father of Economics' ?

(1) Adam Smith (2) Kautilya

(3) David Hume (4) Alfred Marshall
‘Srefare @ e (fyar) R wed € 7

(1) oo feg () B ;
(3) s = I (4) orhs AR

The law of Demand refers to .

(1) Price-cost relationship (2) Price-supply relationship
(3) Price-income relationship  {4) Price-demand relationship
W) @l Fran’ STEN B

(1} HeF-«FTe = (2) T g '

(3) HEH-ATT T (4) EF-AF G

Under disguised unemployment marginal productivity is !
(1) Equal to zero

(2} Equal to one

(3} More than one

(4) Infinite
%ﬁgﬁ%ﬂﬁmﬁ%amﬁﬁﬁtmﬁaﬂﬁ%ﬂf@ﬂ?%:

(18)
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54. Economic causes of under development of India is/are :
(1} Market imperfections |
(2) Predominance of agriculture
(3) Lack of technical knowledge

(4) All of these | |
T § e fapr & e wreer BF
(1) S Sgorar |

@) P # e

(3) T s &

(4) IugerT [eft

55. Which of the following factors of production is most likely to be
variable in the short run?

(1) Land
(2} Labour
(3) Entrepreneurship
{8) Capital
Wﬁﬁﬁ-ﬁw%wwﬁqﬂﬁﬁhmy;
(1) M | |
T S
(3) sed
@ g
(19)
P.T.0.
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56.

57.

If total utility is decreasing, then marginal utility must be :
(1] Negative

(2) Decreasing at an increasing rate

(3) Increasing at a decreasing rate

{4} Positive

aft et S ae <@ @, A A ST s 3N ¢
(1) ='~E°TIFIEEI

Q) wd w W g

(3) "ot av uT =gl B2

(4) D

Which one of the following is not the function of money ?
(1} Medium of exchange

{2) Store-of value

(3} Allocation of resources
(4) Money as a unit of measurement
Sy @ A TR e T ¥
(4 i = AEEH

IFZI i HUSK

a—gpr-ﬁ a1 aMdC

| g a1 -_Ei Q“-ﬂ“(
(20)
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58. The contribution of agriculture to India's economy is :

59,

(1) Constant (2} Increasing
(3) Decreasing (4} None of these
W srelemerenr & iy 5 Grem 2

(1) TRex . (2) sweT gew

(3) =ear gom (4) =7 & HE 78
The National Stock Exchange (NSE) is located at -
{1} Mumbai | (2) New Delhi

(3] Chennai {4) Kolkata °
WS 4T qraR e g & 7

(1) g7 4 (2) =8 Rl #
3) =% & . (4) wioFHRT H

The Reserve Bank of India came into existence on :
(1) 1st April, 1936 |

{2) 26th January, 1894

(3) 15th August, 1947

(4) 1st April, 1047

AT o % B wer g R

(1) 1 a1, 1936

(2) 26 wFadl, 1894

(3] 15 9T, 1947

(4) 1 o, 1947

(&L P.TO
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61. mqa%ﬁgﬁa%m“ﬁw%@w”m%ﬁﬁﬁmﬁm%m

B
(1} =plaer _ (2] :na?s
(3) @l (4} Ymt=E

62. ‘@ iaazq-% ;
(1) g + &AW d (2] | -+ HEN
(3) & + 7 (4) & + 9
63, Py § & dar A e #1 gt § & THE 7
(1) = (2)
(3) @ 4) =
64, i Rl 7 6 vy A - i A W R

(1] SR 3™ (2) HET A
(3) T T (4) o =

5. Ty B DErE o IO 78 6

(1) TR (2) @I
(3) HTEH @) =

66. *t[;izsr%'rﬂ’aﬁﬂf@f@ﬂﬁaﬁ“‘ﬂt
(1) FE (2) A

(3 4 T

(22)
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67. ‘gz g ot AwEE & B R vE s @ g i
(1) smeaa (2) e
(3) omT (4] Flifhep
88. M - o1 B g - 7 A AT i
T - o g -9
(®) W&z amg (A) @
(@) FeT e B)
(M S0 EEsr Q) #er @ o
(7)) e (D) BR-B1F grmew
(1) EH—C,'@—B,’T—&,E{_—D 4} 9-D,9-~C,7-409-B
B) #-B,&-AT-D,g-C (4 EE—ti,E'-—C,“T—B,H-A

69, ‘%@ﬁ?m’ﬂﬂﬂf%t

(1) e s (2) a=r & g

(3) wga wiw & (4) gu & |
70. ‘aﬁ"{+ﬁ’=€ﬁi‘~aﬁmﬁﬁrmﬁw%: :

(1) s (2)

(3) 97 (4) I
. e & & S 9w w 3 |

(1) s (2) AN

(3) arreA (@) orauly

(23)

P.T0o
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72. & f3 ) g=t § A aE 8 7

(1} 5% (2) &=
@) & (4) T
73. % T & "ewe AT HE fAwe FE 1 FH e A HT=E
(VW g=a (2) FAFER
(3) faEmoy (4) |

74. ‘stev w1 = 4 o A B
(1) SIIA Fe
(2) BT T
(3) HET A HAT
(4) T AR AT
75 v % dt sia-Rdhe A e s ¥ 7
(1) 95D (2) BYHT
(3) FIB (4) THET
76. What ie the plural of the word - Fungus ?
(1} Fungi (2) Fungesses

[3] Funguses 4) Fungsie&

77. Fill in the blanks with appropriate preposition

The sun Snk ..o the hill.

&
(1) above (2) wp
(3) dowli (4) under

(24)



78.

81.

82,

SET/17/20/X1(A)/{3)

Choose the alternative that best expresses the following idiom :
Apple-pie-order

(1) in disorder (2) in a trouble

(3) in good condition (4) in a hurry
Fill in the blanks ;

In Britain more people drink tea ... .
(1) some coffee {2) More coffee

{3) no coffee " (4) than cnffée
Which ﬁf the following sentence is wrong ?

(1) We have had encugh training

12} The radio broadcasted the news last evening
{®) it rains, we shall not go to school

{4] If you heat ice, it will melt

Which is the ‘correct passive voice of the sentence ? "People say
that he is honest."

{1) He is said to be honest.
(2) It is said that he was honest,
(3) He is said to had been honest.

(4) That he was honest is gaid by the people.

Which of the following is a distributive prangqup 7
(1) Who . (2) What
(3) Some ‘ (4) Yourself

(25)
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83. What is the meaning of the word - INSOLENT ?
(1) Insoluble (2) Maim

(3} Rude (4] Insouciance

84. A type of grey stone that comes from volcanoes and is very light in
weight is called :

(1} Pumice | (2) Revile
13} Fauve (4) Pectin

85. The study of how people vote in elections 1s called :

(1} Electorate (2) Referendum
(3) Psephology (4) Electoral psychology

86. 'The wind was the angry witch'. 'Witch' here is a:

(1} Simile (2) Personification
(3] Mctaphot | (<) Metonymy

87. 'Shylock' is a character in which of the fnllnwi_ng text.?
(1) Macbeth (2) . Tempest
(3) The Merchant of Venice (4) King Lear

gg. What is the synonym of the word - DISDAINFUL ?

(1} Contemptuous " (2) Frantic

3) Distrustful (4) Conspicuous

(26)
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Smoking is injurious to health. ‘Smoking’ is used here as a :
(1) Conditional

(2) Determiner

(3) Gerur{d

(4) Modifier

Which is the synonym of the word - QPULENCE ?

(1) Luxury (2) Lascivious

(3) Penury (4) Puerile

Who was the flag bearer for India in the Rio Olympic (2016) ?

(1) P.V.Sindhu (2) Saina Nehwal

{3} Abhinav Bindra (4) Sakshi Malik

Rat shafas (2016) % wRg @7 =ommEe O o1 7

(1) dio dlo Ry (2) HET Feawr

(3) i R (4) Emh 9

Who is the present governor of Reserve Bank of India ?
(1} Raghuram Rajan (2) Urijit R. Patel
(3) Manmohan Singh (4) D. Subbaraa
T Red % 3w g e ¥ 2

(1) g™ TS N (2) I Ao gy
(@) wET e 4) de gurm
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93. The currency of Japan is :

(1) Yen (2) Dollar (3) Pound . (4) Dinar
S A OgET B
(1) a9 (2) H (3) TS (4) AR

84. The first chief minister of Uttar Pradesh was

(1) Jai Prakash Narayan " (2) Kamla Pati Tripathi

(3) Govind Ballabha Pant @) C.B.Gupta

FT G B T TATHI T

(1) ST STl ATIECT (2) Fwwra B

(3) MR T o (@) o o T
95.- In India 'The Natinnai Voters Day' is celebrated on :

(1) 22, January (2) 23, January

(3) 24, January (4) 25, January

qd F asdg drex Rew fra Ry @ wewar swer 7

(1) 22, sFEd (2) 23, F=aH

(3) 24, il (4) 25, s=Ed

96. Every rational number is :
(1) A natural number (2) An integer
(3) A real number (4} A whole number
gy WRHT | B
(1) T SRR et - {2) um g

(3) qﬂia‘!ﬁﬁﬁ'm 4) wH qol e
(28)
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97. What is the 'diﬂbrcnce between compound interest and simple
interest for 3 years at a rate of interest 10% per annum for

Rs. 1000 ?
(1) 31 (2) 30
3) 32 4 33

o mooariﬁ%aﬁzsmﬂa-{ﬁsa#waaa@-ww
WTHROT A T AT § : |

(1} 3r @ 30
@) 32 4) 33

98. The area of the shaded region is ;

7 cm
7 cm
(1) 12 em? ' {2) 14 cm?
(3) 12.5ecm? (4) 13 cm?

Emﬂ%ﬁﬁmﬁ%ﬁw%:

(1) - 12 &5 (2] 14 {e
(3) 12.5 (4} 13 &2

(29)
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99. If 1% + 29+ 3% + ... oo, + O3 = 2025, then (C.11)° + (0.22)7 +
...+ {0.99)" will be :
(1) 0.2695 (2) 2.695 (3} 3.695 (4) 0.3695
g 12+ 22 4+ 3 + e + 93 = 2025, @ (0.11) + (0.22)° +
............ 4 (0.99)* &r
1) 0.2605 (2) 2695 (3) 3.695 (4) 0.3695

100. Through two points :

(1) no line can be drawn
(2) a unique line can be drawn

(3) meore than one line can be drawn
(4) WNone of these

w9 % fag A

(1) % ::!'ET T T wEA

@) & oAEdE Y@ a9 w8

(3) uep § e T 99wl @

@) T & FE T



